Simplify the exp%essions
1. |-2-3x5] (1 mark)
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Simplify the Radical expressions.
3. 263 (1 mark)
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4. 120.7cy5 (1 mark)

" Write each mixed radical as an entire radical.

5. 3a/4ab (1 mark)

6. 2xyifxy (1'mark)
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Perform the indicated operanon and simplify. -
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8. Vi2s-V5 (2 marks)

9. Find the perimetef. (2 marks)
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Perform the indicated operation and 51mp1ify

10. (4\/—+\/_) (4/x mf (2 marks)
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11. 3a (\/E —“\/E ) (2 marks)
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Rationalize the Denominator
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State the restriction for the radical equation, ALSO graph the restriction on the number line.

14, V3=x +/2x+1=2x+7 (2 marks)
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Solve the radical equations and state the restrictions. Do not forget to check your solutions and reject the
erroneous solutions.
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End of Test
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